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Q-1 {A) Explain the meaning of differentiation. State the conditions for maximization and minimization of the
function with the help of simple, partial and total differentiation. Discuss the usage of differentiation
in economics.
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(B) A utility function of a consumer is U = XY + 2X. If income of the consumer is Rs. 6000 and the price’
of commodities ‘X’ and “Y” are Rs. 400 and Rs. 200 per unit respectively then find out the maximum
utility of the consumer.
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Q-1 (i) Explain the following rules of differentiation with the help of appropriate illustrations.. 09
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(1) Chain rule (Aistill [Ham)
(2) Division rule (MLs1-1 [RaH)
(3) Differentiation of implicit function (L8 (4821 (@sa-t)

(i) Discuss the steps to find out the maximum value of function using differentiation. 04
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(iti) The inverse demand functions of commodities ‘X’ and “Y" are Px = 100 — 4X and Py =200 -25Y 05

respectively. The total cost function of a producer is C = 100 + 20X + 50Y. Then find out the
maximum profit.
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Q-2 (A) Give the meaning of correlation. Explain the product moment and rank correlation methods to find 09

out the coefficient of correlation.
ot viel vl dioitly Bl M2l oyl Ueld v sHis duriof uttld el

(B) Using the foliowing data find out Karl Pearson’s coefficient of correlation and probable error and 08

interpret the result.
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X|50[60 707585 |90 95 65]165]80

Y100 120 135 | 140 [ 160 | 180 | 185 | 130 {1351 150
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Q-2 (i) Usmg scatiered diagram and coefficient of correlation, explain the types of correlation. Distinguish 12

between correlation and regression.
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(i} Find out rank coefficient of correlation for the following data. 05
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Q-3 (A) Give the meaning of association of attributes. State the conditions for consistency of data, Describe 09

the methods to study the association of attributes.
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(B} Estimate the regression equations from following data. Calculate the coefficient of correlation 08
between the age of husband and wife.
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Age of Husband | 28 |29 |30 |21 (2223 |24 (252627

Age of Wife 27127128 |18(19]19119]20{21]22
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Q-3 (i) Describe the concepts of regresston lines and regression coefficients. Narrate the characteristics and 09
usages of regresswn in economics. '
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(ii} There were 3000 students appeared in an examination. Out of them 40 % students were from rural 05
area. Total 92% students cleared the examination, Out of the total failed students, the number of
students from the rural area was less by 30 numbers than that by the students from urban area. Using
this information find out the Yule’s Quotient of attributes.
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(i) Explain the types of association of attributes. 03
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Q-4 (A) Define index number and discuss in detail its construction, importance and limitations. 09
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(B) Construct the index number using methods of Laspeyre, Paasche, Fisher and Marshall-Edgeworth. 09
Which of these indices fulfills the time reversal test and factor reversal test-Examine.
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Commodity 2016 2017
92d, Quantity (sy24]) | Price (<) | Quantity (svedll) | Price ([54d)
A 200 40 250 60
B 50 30 160 40
C 25 25 110 30
D 15 120 120 25
E 10 85 40 20
OR (%)
Q-4 (i) Write a detailed note on time reversal and factor reversal tests. 08
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(ii) Construct the index number using the method of weighted average of relative prices. 05
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Commodity | Price ((54d) | Quantity (s¥2l)

el 20112017 2011
A 22 | 45 25
B 30 | 65 20
C 10 | 27 15
D 21 | 43 30
E 55 | 80 5
F 32 | 42 9
G 1| 21 50

(iif) Write a brief note on cost of living index. 05
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